BID SUMMARY

CLEAR CREEK ROAD BRIDGE REPLACEMENTS PROJECT

4094

77138 & 77139

Contract No.

Project No.

Project Types Bridge Replacements, Grading & Paving, Fence Replacement, Guard Rails

Project	Project Types Bridge Replacements, Grading & Paving, Fence Replacement, Guard I				MYERS & SONS CO	NSTRUCTION	GRANITE CONST	RUCTION CO.	VIKING CONSTRUCT	ION COMPANY, INC.	Q&D CONSTRUCTION		SECURITY PAVING COMPANY, INC.	
ltem No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
	77138 Clear Creek Bridge PM 1.82 (Bridge 1)													
1	072007A	Excavation Safety	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
2	80050	Progress Schedule (Critical Path Method)	LS	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$2,200.00	\$2,200.00	\$12,000.00	\$12,000.00
3	120090	Construction Area Signs	LS	1	\$4,500.00	\$4,500.00	\$4,195.00	\$4,195.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00
4	120100	Traffic Control System	LS	1	\$10,000.00	\$10,000.00	\$22,000.00	\$22,000.00	\$5,000.00	\$5,000.00	\$75,000.00	\$75,000.00	\$19,000.00	\$19,000.00
5	128652	Portable Changeable Message Sign	LS	1	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00
6	130100	Job Site Management	LS	1	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$21,000.00	\$21,000.00
7	130300	Prepare Storm Water Pollution Prevention Plan	LS	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
8	130310	Rain Event Action Plan	EA	5	\$350.00	\$1,750.00	\$500.00	\$2,500.00	\$250.00	\$1,250.00	\$500.00	\$2,500.00	\$800.00	\$4,000.00
9	130320	Storm Water Sampling and Analysis Day	EA	5	\$350.00	\$1,750.00	\$300.00	\$1,500.00	\$250.00	\$1,250.00	\$220.00	\$1,100.00	\$350.00	\$1,750.00
10	130330	Storm Water Annual Report	EA	1	\$1,500.00	\$1,500.00	\$800.00	\$800.00	\$750.00	\$750.00	\$750.00	\$750.00	\$1,200.00	\$1,200.00
11	130580A	Temporary Water Diversion	LS	1	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00	\$125,000.00	\$125,000.00	\$158,000.00	\$158,000.00
12	130680A	Temporary Orange Silt Fence	LF	300	\$10.00	\$3,000.00	\$11.65	\$3,495.00	\$15.00	\$4,500.00	\$11.00	\$3,300.00	\$13.00	\$3,900.00
13	149001A	Prepare Fugitive Dust Control Plan	LS	1	\$2,000.00	\$2,000.00	\$375.00	\$375.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
14	160110	Temporary High-Visibility Fence	LF	800	\$6.50	\$5,200.00	\$6.31	\$5,048.00	\$15.00	\$12,000.00	\$9.00	\$7,200.00	\$7.00	\$5,600.00
15	170103	Clearing & Grubbing	LS	1	\$85,000.00	\$85,000.00	\$100,500.00	\$100,500.00	\$80,000.00	\$80,000.00	\$110,000.00	\$110,000.00	\$110,000.00	\$110,000.00
16	190101	Roadway Excavation (F)	CY	100	\$125.00	\$12,500.00	\$130.00	\$13,000.00	\$425.00	\$42,500.00	\$360.00	\$36,000.00	\$58.00	\$5,800.00
17	190185	Shoulder Backing	TON	25	\$225.00	\$5,625.00	\$260.00	\$6,500.00	\$200.00	\$5,000.00	\$133.00	\$3,325.00	\$700.00	\$17,500.00
18	192003	Structure Excavation (Bridge) (F)	CY	357	\$225.00	\$80,325.00	\$130.00	\$46,410.00	\$350.00	\$124,950.00	\$215.00	\$76,755.00	\$525.00	\$187,425.00
19	192037	Structure Excavation (Retaining Wall) (F)	CY	135	\$225.00	\$30,375.00	\$130.00	\$17,550.00	\$350.00	\$47,250.00	\$180.00	\$24,300.00	\$92.00	\$12,420.00
20	193003	Structure Backfill (Bridge) (F)	CY	205	\$200.00	\$41,000.00	\$275.00	\$56,375.00	\$100.00	\$20,500.00	\$345.00	\$70,725.00	\$300.00	\$61,500.00
21	193013	Structure Backfill (Retaining Wall) (F)	CY	182	\$150.00	\$27,300.00	\$275.00	\$50,050.00	\$100.00	\$18,200.00	\$265.00	\$48,230.00	\$260.00	\$47,320.00
22	198010	Imported Borrow	CY	60	\$150.00	\$9,000.00	\$3.00	\$180.00	\$75.00	\$4,500.00	\$260.00	\$15,600.00	\$200.00	\$12,000.00
23	210270	Rolled Erosion Control Product (Netting)	SQFT	2000	\$2.55	\$5,100.00	\$2.50	\$5,000.00	\$5.00	\$10,000.00	\$1.00	\$2,000.00	\$3.30	\$6,600.00
24	210350	Fiber Rolls	LF	400	\$6.25	\$2,500.00	\$6.18	\$2,472.00	\$10.00	\$4,000.00	\$8.00	\$3,200.00	\$8.00	\$3,200.00
25	210430	Hydroseed (3-Step)	SQFT	6000	\$0.60	\$3,600.00	\$0.60	\$3,600.00	\$0.50	\$3,000.00	\$0.50	\$3,000.00	\$0.75	\$4,500.00

Begin Advertisement: Bid Opening: Anticipated Award: 3/18/2020 4/17/2020 5/5/2020

20-0572 C 1 of 5

			MYERS & SONS	CONSTRUCTION	GRANITE CONS	STRUCTION CO.	VIKING CONSTRUCTION COMPANY, INC.		Q&D CONSTRUCTION		SECURITY PAVING COMPANY, INC.			
ltem No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
26	260203	Class 2 Aggregate Base	CY	120	\$175.00	\$21,000.00	\$275.00	\$33,000.00	\$150.00	\$18,000.00	\$185.00	\$22,200.00	\$160.00	\$19,200.00
27	390132	Hot Mix Asphalt (Type A, PG 64-16)	TON	130	\$255.00	\$33,150.00	\$300.00	\$39,000.00	\$300.00	\$39,000.00	\$275.00	\$35,750.00	\$240.00	\$31,200.00
28	398200	Cold Plane Asphalt Concrete Pavement	SQYD	45	\$255.00	\$11,475.00	\$105.00	\$4,725.00	\$250.00	\$11,250.00	\$250.00	\$11,250.00	\$1,400.00	\$63,000.00
29	510051	Structural Concrete, Bridge Footing (F)	CY	59	\$1,200.00	\$70,800.00	\$1,000.00	\$59,000.00	\$1,500.00	\$88,500.00	\$900.00	\$53,100.00	\$800.00	\$47,200.00
30	510053	Structural Concrete, Bridge (F)	CY	85	\$2,750.00	\$233,750.00	\$2,700.00	\$229,500.00	\$1,450.00	\$123,250.00	\$2,100.00	\$178,500.00	\$2,600.00	\$221,000.00
31	510054	Structural Concrete, Bridge (Polymer Fiber) (F)	CY	106	\$1,800.00	\$190,800.00	\$1,650.00	\$174,900.00	\$1,450.00	\$153,700.00	\$1,500.00	\$159,000.00	\$2,600.00	\$275,600.00
32	510060	Structural Concrete, Retaining Wall (F)	CY	55	\$1,800.00	\$99,000.00	\$2,700.00	\$148,500.00	\$1,600.00	\$88,000.00	\$1,350.00	\$74,250.00	\$2,800.00	\$154,000.00
33	510085	Structural Concrete, Approach Slab (Type EQ) (F)	CY	19	\$1,500.00	\$28,500.00	\$2,300.00	\$43,700.00	\$1,500.00	\$28,500.00	\$1,970.00	\$37,430.00	\$2,400.00	\$45,600.00
34	519081	Joint Seal (MR = 1/2", Type B) (P)	LF	58	\$50.00	\$2,900.00	\$95.00	\$5,510.00	\$150.00	\$8,700.00	\$90.00	\$5,220.00	\$93.00	\$5,394.00
35	520102	Bar Reinforcing Steel (Bridge) (F / P)	LB	27900	\$1.55	\$43,245.00	\$1.45	\$40,455.00	\$1.50	\$41,850.00	\$1.15	\$32,085.00	\$2.00	\$55,800.00
36	520103	Bar Reinforcing Steel (Retaining Wall) (F / P)	LB	8400	\$1.90	\$15,960.00	\$2.75	\$23,100.00	\$2.00	\$16,800.00	\$1.80	\$15,120.00	\$2.10	\$17,640.00
37	520110	Bar Reinforcing Steel (Bridge, Epoxy Coated) (F / P)	LB	6100	\$2.40	\$14,640.00	\$3.50	\$21,350.00	\$2.50	\$15,250.00	\$2.20	\$13,420.00	\$2.50	\$15,250.00
38	590229A	Staining Galvanized Surfaces	LS	1	\$9,000.00	\$9,000.00	\$8,750.00	\$8,750.00	\$10,000.00	\$10,000.00	\$8,750.00	\$8,750.00	\$12,000.00	\$12,000.00
39	600097	Bridge Removal	LS	1	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$51,000.00	\$51,000.00
40	723060	Rock Slope Protection (300 lb, Class IV, Method B)	CY	180	\$430.00	\$77,400.00	\$285.00	\$51,300.00	\$250.00	\$45,000.00	\$315.00	\$56,700.00	\$240.00	\$43,200.00
41	729011	Rock Slope Protection Fabric (Class 8)	SQYD	320	\$10.00	\$3,200.00	\$4.00	\$1,280.00	\$5.00	\$1,600.00	\$2.50	\$800.00	\$2.00	\$640.00
42	810170	Delineator (Class 1)	EA	11	\$125.00	\$1,375.00	\$120.00	\$1,320.00	\$50.00	\$550.00	\$120.00	\$1,320.00	\$160.00	\$1,760.00
43	832007	Midwest Guardrail System (Wood Post)	LF	25	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$55.00	\$1,375.00	\$70.00	\$1,750.00
44	832070	Vegetation Control (Minor Concrete)	SQYD	55	\$160.00	\$8,800.00	\$155.00	\$8,525.00	\$175.00	\$9,625.00	\$155.00	\$8,525.00	\$325.00	\$17,875.00
45	839543	Transition Railing (Type WB-31)	EA	4	\$6,200.00	\$24,800.00	\$6,075.00	\$24,300.00	\$6,500.00	\$26,000.00	\$6,075.00	\$24,300.00	\$8,500.00	\$34,000.00
46	839584A	MGS In-Line Terminal System	EA	2	\$5,200.00	\$10,400.00	\$5,100.00	\$10,200.00	\$5,500.00	\$11,000.00	\$5,100.00	\$10,200.00	\$7,100.00	\$14,200.00
47	839714A	Concrete Barrier (Type 80 Modified) (F)	LF	178	\$635.00	\$113,030.00	\$475.00	\$84,550.00	\$450.00	\$80,100.00	\$820.00	\$145,960.00	\$700.00	\$124,600.00
48	999990	Mobilization	LS	1	\$125,000.00	\$125,000.00	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00	\$175,000.00	\$175,000.00	\$160,000.00	\$160,000.00
	Total 77138 (Bridge 1)					\$1,602,500.00		\$1,655,965.00		\$1,546,575.00		\$1,776,440.00		\$2,148,624.00

COUNTY OF EL DORADO DEPARTMENT OF TRANSPORTATION

			MYERS & SONS (CONSTRUCTION	GRANITE CONS	TRUCTION CO.	VIKING CONSTRUCTION COMPANY, INC.		Q&D CONSTRUCTION		SECURITY PAVING C	OMPANY, INC.		
ltem No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
	77139 Clear Creek Bridge PM 0.25 (Bridge 2)													
49	072007A	Excavation Safety	LS	1	\$75,000.00	\$75,000.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$13,000.00	\$13,000.00	\$13,000.00	\$13,000.00
50	80050	Progress Schedule (Critical Path Method)	LS	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$2,200.00	\$2,200.00	\$12,000.00	\$12,000.00
51	120090	Construction Area Signs	LS	1	\$2,500.00	\$2,500.00	\$2,485.00	\$2,485.00	\$7,500.00	\$7,500.00	\$2,485.00	\$2,485.00	\$3,500.00	\$3,500.00
52	120100	Traffic Control System	LS	1	\$65,000.00	\$65,000.00	\$47,000.00	\$47,000.00	\$50,000.00	\$50,000.00	\$133,395.00	\$133,395.00	\$24,000.00	\$24,000.00
53	128652	Portable Changeable Message Sign	LS	1	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$36,000.00	\$36,000.00
54	129000	Temporary Railing (Type K)	LF	380	\$50.00	\$19,000.00	\$130.00	\$49,400.00	\$60.00	\$22,800.00	\$98.00	\$37,240.00	\$75.00	\$28,500.00
55	129110A	Temporary Crash Cushion (Absorb 350)	EA	2	\$4,500.00	\$9,000.00	\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$3,200.00	\$6,400.00	\$5,000.00	\$10,000.00
56	130100	Job Site Management	LS	1	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00
57	130300	Prepare Storm Water Pollution Prevention Plan	LS	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
58	130310	Rain Event Action Plan	EA	5	\$350.00	\$1,750.00	\$500.00	\$2,500.00	\$250.00	\$1,250.00	\$500.00	\$2,500.00	\$800.00	\$4,000.00
59	130320	Storm Water Sampling and Analysis Day	EA	5	\$350.00	\$1,750.00	\$300.00	\$1,500.00	\$250.00	\$1,250.00	\$220.00	\$1,100.00	\$350.00	\$1,750.00
60	130330	Storm Water Annual Report	EA	1	\$1,500.00	\$1,500.00	\$800.00	\$800.00	\$750.00	\$750.00	\$750.00	\$750.00	\$1,200.00	\$1,200.00
61	130580A	Temporary Water Diversion	LS	1	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00	\$98,000.00	\$98,000.00	\$212,000.00	\$212,000.00
62	130680A	Temporary Orange Silt Fence	LF	300	\$12.00	\$3,600.00	\$11.65	\$3,495.00	\$15.00	\$4,500.00	\$9.50	\$2,850.00	\$13.00	\$3,900.00
63	149001A	Prepare Fugitive Dust Control Plan	LS	1	\$2,500.00	\$2,500.00	\$375.00	\$375.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
64	160110	Temporary High-Visibility Fence	LF	700	\$7.20	\$5,040.00	\$7.09	\$4,963.00	\$15.00	\$10,500.00	\$10.00	\$7,000.00	\$8.00	\$5,600.00
65	170103	Clearing & Grubbing	LS	1	\$85,000.00	\$85,000.00	\$65,000.00	\$65,000.00	\$90,000.00	\$90,000.00	\$110,000.00	\$110,000.00	\$60,000.00	\$60,000.00
66	190101	Roadway Excavation	CY	129	\$125.00	\$16,125.00	\$130.00	\$16,770.00	\$450.00	\$58,050.00	\$280.00	\$36,120.00	\$45.00	\$5,805.00
67	190185	Shoulder Backing	TON	25	\$200.00	\$5,000.00	\$260.00	\$6,500.00	\$200.00	\$5,000.00	\$130.00	\$3,250.00	\$700.00	\$17,500.00
68	192003	Structure Excavation (Bridge)	CY	365	\$225.00	\$82,125.00	\$130.00	\$47,450.00	\$450.00	\$164,250.00	\$240.00	\$87,600.00	\$850.00	\$310,250.00
69	192037	Structure Excavation (Retaining Wall)	CY	135	\$225.00	\$30,375.00	\$130.00	\$17,550.00	\$450.00	\$60,750.00	\$190.00	\$25,650.00	\$125.00	\$16,875.00
70	193003	Structure Backfill (Bridge)	CY	230	\$125.00	\$28,750.00	\$275.00	\$63,250.00	\$100.00	\$23,000.00	\$285.00	\$65,550.00	\$425.00	\$97,750.00
71	193013	Structure Backfill (Retaining Wall)	CY	130	\$125.00	\$16,250.00	\$275.00	\$35,750.00	\$100.00	\$13,000.00	\$260.00	\$33,800.00	\$375.00	\$48,750.00
72	194001	Ditch Excavation	CY	25	\$100.00	\$2,500.00	\$130.00	\$3,250.00	\$325.00	\$8,125.00	\$125.00	\$3,125.00	\$150.00	\$3,750.00
73	198010	Imported Borrow	CY	230	\$100.00	\$23,000.00	\$3.00	\$690.00	\$75.00	\$17,250.00	\$190.00	\$43,700.00	\$100.00	\$23,000.00
74	210270	Rolled Erosion Control Product (Netting)	SQFT	3600	\$1.45	\$5,220.00	\$1.42	\$5,112.00	\$5.00	\$18,000.00	\$1.00	\$3,600.00	\$1.75	\$6,300.00
75	210350	Fiber Rolls	LF	400	\$4.20	\$1,680.00	\$4.11	\$1,644.00	\$10.00	\$4,000.00	\$8.00	\$3,200.00	\$5.00	\$2,000.00
76	210430	Hydroseed (3-Step)	SQFT	22000	\$0.25	\$5,500.00	\$0.25	\$5,500.00	\$0.50	\$11,000.00	\$0.50	\$11,000.00	\$0.35	\$7,700.00
77	260203	Class 2 Aggregate Base	CY	200	\$150.00	\$30,000.00	\$275.00	\$55,000.00	\$150.00	\$30,000.00	\$200.00	\$40,000.00	\$150.00	\$30,000.00
78	390132	Hot Mix Asphalt (Type A, PG 64-16)	TON	220	\$355.00	\$78,100.00	\$300.00	\$66,000.00	\$400.00	\$88,000.00	\$400.00	\$88,000.00	\$200.00	\$44,000.00

20-0572 C 3 of 5

COUNTY OF EL DORADO DEPARTMENT OF TRANSPORTATION

					MYERS & SONS (CONSTRUCTION	GRANITE CONS	TRUCTION CO.	VIKING CONSTRUCT	ION COMPANY, INC.	Q&D CONST	RUCTION	SECURITY PAVING C	OMPANY, INC.
ltem No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
79	398200	Cold Plane Asphalt Concrete Pavement	SQYD	45	\$355.00	\$15,975.00	\$105.00	\$4,725.00	\$350.00	\$15,750.00	\$350.00	\$15,750.00	\$1,400.00	\$63,000.00
80	510051	Structural Concrete, Bridge Footing	CY	60	\$1,200.00	\$72,000.00	\$1,300.00	\$78,000.00	\$1,500.00	\$90,000.00	\$950.00	\$57,000.00	\$800.00	\$48,000.00
81	510053	Structural Concrete, Bridge	CY	99	\$2,750.00	\$272,250.00	\$2,750.00	\$272,250.00	\$1,450.00	\$143,550.00	\$2,200.00	\$217,800.00	\$2,600.00	\$257,400.00
82	510054	Structural Concrete, Bridge (Polymer Fiber)	CY	106	\$2,200.00	\$233,200.00	\$1,600.00	\$169,600.00	\$1,450.00	\$153,700.00	\$1,800.00	\$190,800.00	\$2,600.00	\$275,600.00
83	510060	Structural Concrete, Retaining Wall	CY	65	\$1,500.00	\$97,500.00	\$2,300.00	\$149,500.00	\$1,600.00	\$104,000.00	\$1,225.00	\$79,625.00	\$2,800.00	\$182,000.00
84	510085	Structural Concrete, Approach Slab (Type EQ)	CY	19	\$1,500.00	\$28,500.00	\$2,300.00	\$43,700.00	\$1,500.00	\$28,500.00	\$2,215.00	\$42,085.00	\$2,400.00	\$45,600.00
85	511106	Drill and Bond Dowel	LF	56	\$100.00	\$5,600.00	\$50.00	\$2,800.00	\$125.00	\$7,000.00	\$60.00	\$3,360.00	\$60.00	\$3,360.00
86	519081	Joint Seal (MR = 1/2*, Type B)	LF	59	\$50.00	\$2,950.00	\$95.00	\$5,605.00	\$150.00	\$8,850.00	\$90.00	\$5,310.00	\$95.00	\$5,605.00
87	520102	Bar Reinforcing Steel (Bridge)	LB	31200	\$1.50	\$46,800.00	\$1.50	\$46,800.00	\$1.50	\$46,800.00	\$1.15	\$35,880.00	\$2.00	\$62,400.00
88	520103	Bar Reinforcing Steel (Retaining Wall)	LB	9700	\$1.35	\$13,095.00	\$2.06	\$19,982.00	\$1.50	\$14,550.00	\$1.25	\$12,125.00	\$2.25	\$21,825.00
89	520110	Bar Reinforcing Steel (Bridge, Epoxy Coated)	LB	6300	\$2.00	\$12,600.00	\$3.10	\$19,530.00	\$2.00	\$12,600.00	\$1.85	\$11,655.00	\$2.50	\$15,750.00
90	590229A	Staining Galvanized Surfaces	LS	1	\$9,000.00	\$9,000.00	\$8,750.00	\$8,750.00	\$10,000.00	\$10,000.00	\$8,750.00	\$8,750.00	\$12,000.00	\$12,000.00
91	600097	Bridge Removal	LS	1	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$51,000.00	\$51,000.00
92	641101	12" Plastic Pipe	LF	72	\$120.00	\$8,640.00	\$300.00	\$21,600.00	\$325.00	\$23,400.00	\$235.00	\$16,920.00	\$60.00	\$4,320.00
93	650010	12" Reinforced Concrete Pipe	LF	36	\$150.00	\$5,400.00	\$330.00	\$11,880.00	\$425.00	\$15,300.00	\$245.00	\$8,820.00	\$110.00	\$3,960.00
94	650014	18" Reinforced Concrete Pipe	LF	38	\$165.00	\$6,270.00	\$350.00	\$13,300.00	\$425.00	\$16,150.00	\$255.00	\$9,690.00	\$120.00	\$4,560.00
95	703233	Grated Line Drain	LF	19	\$900.00	\$17,100.00	\$325.00	\$6,175.00	\$600.00	\$11,400.00	\$1,400.00	\$26,600.00	\$250.00	\$4,750.00
96	705007	12" Steel Flared End Section	EA	2	\$435.00	\$870.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00	\$1,700.00	\$3,400.00
97	707117	36" Precast Concrete Pipe Inlet (Type OCPI)	EA	1	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00	\$12,000.00	\$12,000.00	\$6,250.00	\$6,250.00	\$10,000.00	\$10,000.00
98	707117A	Drainage Inlet	EA	1	\$5,500.00	\$5,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
99	710136	Remove Pipe	LF	40	\$85.00	\$3,400.00	\$40.00	\$1,600.00	\$250.00	\$10,000.00	\$137.00	\$5,480.00	\$80.00	\$3,200.00
100	723060	Rock Slope Protection (300 lb, Class IV, Method B)	CY	220	\$430.00	\$94,600.00	\$350.00	\$77,000.00	\$250.00	\$55,000.00	\$250.00	\$55,000.00	\$325.00	\$71,500.00
101	723070	Rock Slope Protection (150 lb, Class III, Method B)	CY	6	\$430.00	\$2,580.00	\$400.00	\$2,400.00	\$800.00	\$4,800.00	\$350.00	\$2,100.00	\$300.00	\$1,800.00
102	723080	Rock Slope Protection (60 lb, Class II, Method B)	CY	3	\$430.00	\$1,290.00	\$750.00	\$2,250.00	\$1,200.00	\$3,600.00	\$525.00	\$1,575.00	\$300.00	\$900.00
103	723120	Concreted-Rock Slope Protection (150 lb, Class III, Method A)	CY	7	\$1,000.00	\$7,000.00	\$600.00	\$4,200.00	\$750.00	\$5,250.00	\$580.00	\$4,060.00	\$950.00	\$6,650.00
104	729011	Rock Slope Protection Fabric (Class 8)	SQYD	370	\$10.00	\$3,700.00	\$4.00	\$1,480.00	\$5.00	\$1,850.00	\$2.50	\$925.00	\$2.00	\$740.00
105	731504	Minor Concrete (Misc Construction)	CY	1	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
106	803170	Relocate Fence	LF	85	\$50.00	\$4,250.00	\$135.00	\$11,475.00	\$300.00	\$25,500.00	\$150.00	\$12,750.00	\$30.00	\$2,550.00
107	810170	Delineator (Class 1)	EA	10	\$125.00	\$1,250.00	\$120.00	\$1,200.00	\$50.00	\$500.00	\$120.00	\$1,200.00	\$160.00	\$1,600.00
108	820112	Marker (Culvert)	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$75.00	\$75.00	\$150.00	\$150.00	\$200.00	\$200.00
109	832007	Midwest Guardrail System (Wood Post)	LF	9	\$50.00	\$450.00	\$50.00	\$450.00	\$50.00	\$450.00	\$50.00	\$450.00	\$70.00	\$630.00
110	832070	Vegetation Control (Minor Concrete)	SQYD	65	\$160.00	\$10,400.00	\$155.00	\$10,075.00	\$175.00	\$11,375.00	\$155.00	\$10,075.00	\$325.00	\$21,125.00

20-0572 C 4 of 5

COUNTY OF EL DORADO DEPARTMENT OF TRANSPORTATION

					MYERS & SONS CONSTRUCTION		GRANITE CONSTRUCTION CO.		VIKING CONSTRUCTION COMPANY, INC.		Q&D CONSTRUCTION		SECURITY PAVING COMPANY, INC.	
ltem No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
111	839543	Transition Railing (Type WB-31)	EA	4	\$6,200.00	\$24,800.00	\$6,075.00	\$24,300.00	\$6,500.00	\$26,000.00	\$6,075.00	\$24,300.00	\$8,500.00	\$34,000.00
112	839584A	MGS In-Line Terminal System	EA	3	\$5,200.00	\$15,600.00	\$5,100.00	\$15,300.00	\$5,500.00	\$16,500.00	\$5,100.00	\$15,300.00	\$7,000.00	\$21,000.00
113	839714A	Concrete Barrier (Type 80 Modified)	LF	216	\$450.00	\$97,200.00	\$475.00	\$102,600.00	\$450.00	\$97,200.00	\$610.00	\$131,760.00	\$700.00	\$151,200.00
114	999990	Mobilization	LS	1	\$135,000.00	\$135,000.00	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$210,000.00	\$210,000.00	\$160,000.00	\$160,000.00
	Total 77139 (Bridge 2)					\$1,982,685.00		\$1,934,861.00		\$2,068,125.00		\$2,189,560.00		\$2,631,755.00
	Total Bid (Bridge 1 & 2)					\$3,585,185.00		\$3,590,826.00		\$3,614,700.00		\$3,966,000.00		\$4,780,379.00

F Final Pay Quantity

P Item Eligible for Partial Payment

LS Lump Sum